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T/ epraniwun the help of phasor diagram, how the flux of the
transformer core remains fairly constant from no load to full load.
A 10kVA, 200,400 V,50Hz, single phase transformer gave the
following test resulis:

OC Test(HV winding open): 200V, 1.3 A 120w

SC Test (LV winding short): 22 V,30A, 200w
Find the parameter.

s of the equivalent circuit as referred to the
LV side. Also draw the equivalent cjr

cuit of the transformer.

(15)
Q.4.b)) Draw the Bode plot for

Q.5.c) What do You under
factor'? Explain th

C-09/M-08

G(s)=512(s+3) /5 (s*+ 16s+256)

mpare various methods to control the flow of
Ieactive power over the transmission lines.

(10}
'diversity

(10)

stand by the terms "

oad factor' ang
eir significance,

Q.7.a) Find the transmission (AB CD) parameters of the network shown in
fig.1.Also find Whether the network is

Lreciprocal  jj. g metrical. 15
p ym 0.5 F (15)

"

1 ohm
05F

the equivalent circuit for a transistor
amplifier. Obtaip the T in' i
terminals A and B.
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